EREE h—ko—> RNEH FKREA
BEEHSE A—RO—rE» >33 25%  145%
ShPhEREE SOOI A—RO—VEP>F35T404K 28% 14.5%
REPRIEAEE REPEANY— b H—RO—> 3.0%  145%
KMEAEE PEULAH—RO—2Ease 3.5% 4.5%
2EHEE MOULAA—RNRO—rEP>95 35% 12.5%
LEEREE <VOBULA>H—RO—2WEITSENMTATA 35% 14.0%
HRERATE BHEA—RO—Y> 3.9%  14.6%
HOZERAEE LAZEAN—RO—Y 3.95% 3.95%
ZIEHEE LIFLAA—RO—> T74 (ai) 4.5% 6.8%
LoD SHIERERE A—RO—r (VIF—HhH—KRO-> - Ev) 45% 12.5%
BULWREAEE BWHRULAZAKTF Y YT S 45% 14.3%
kB HMEHERE YvANH—RO—> 45% 145%
EBLIERAERE CALAA—RO—Y 48% 14.5%
ERERARE H—RO—> TE» 593500, 48% 145%
=EiEHAEE SALAN—RO—Y TEv» 593, 48% 14.5%
WAEREE Ry Y—=FRry k (A—NK) 55% 14.5%
BEEREE TWULAN—RO—Y T&E» 593, 55% 14.5%
SERMEAEE H—RO—> '+ K500, 5.6% 8.6%
hREA®E ELAN—RO—Y TEp 593, 56% 14.5%
=ASAEE Ky oh—RO—y TERXTS 58% 11.8%
EMWbI-EARE Z v -9 35500 58%  14.0%
KRS T+ (SHEE A—RO—> T7hTUZR, 58% 14.6%
BEAERSME A—RO—rE» >33 58% 14.6%
FRHERAEE HA—RO—> ULAZEAE»->93%500 58% 14.6%
ElRERAERE JILEH—RO—> 6.0% 6.0%
BERERAEE TWULAA—RO—Y 6.3% 14.3%
ERE{SFAEE LAZEAA—RO—Y (VE=NFSVAA—RO— 6.5% 9.8%

v)
BEVOUVZEREE VU LAN—RO—r EEASH RR) 6.8% 13.5%
BIEAEE fehEFDLAEAH—RO—Y 6.8% 14.3%
HRESFAEE H—RO—=> TZ505F v -9 3, 7.0% 14.5%




EREE h—ko—> RNEH FKREA
FHEAEE FALAH—RO—Y 7.5% 9.5%
HFEHBEREE LIFLAN—RO—> 8.0% 14.5%
REBEAERE REEN—KRO—> U4 vJLINE, 8.9% 8.9%
EREALE H£ED LA A—KRO—> 9.0% 12.0%
WREEHAEE LAZAE»>925Hh—RKO—Y 9.0% 12.0%
RRREAEE O LAS—RO—Y 9.0% 145%
RILOEAEE RYRYRTy hA—RO—->45 9.5% 9.5%
ENERARE LAZEAN—RO—Y 9.5% 9.5%
BHERALME HBWLAH—RO—Y 9.5%  13.0%
EBRBERAZE MrULAH—RO—Y 95% 13.5%
ElfEERLE A—RO—rE» >33 95% 14.5%
BiEHAgE TELAZ®-TD 95% 145%
RAH5 WMSHEE HFE5WH— KO- (LA ZEARTEESRI) 9.8% 12.0%
EBEHEE ANEULAA—RO—> Twallet, 9.8% 12.4%
MRIEARE H—KRO-> 51440 — 9.8% 14.5%
BREREE HE& LA h—RO—-y kA, 10.0%  10.0%
BRERARE 2%3LAA—RO—Y> 10.5% 10.5%
=EEREE femrLAA—RO—> 10.7%  10.7%
BEEAEE H—RO—> TOZHED 11.0% 11.0%
RREAEE H—RO—>JOY 11.5% 11.5%
MFEREE LAZEAN—RO—Y 11.6% 12.5%
ShFIESHRE 5£5LULAZEAN—RO—Y 11.65% 11.65%
ETEEHEE HPLAA—RO—> 120%  12.0%
EHERALRE EHEASEN—RO—Y 120% 12.0%
hEEEAERE LAZEAAH—RO—r ~RZb 125% 125%
REFEHEE LAZEAN—RO—Y IR7 - H—R; 13.0%  13.0%
IIRERAEE LAZEAH—KRO—> 135% 13.5%
ZDL ICEHRE LAZEAH—KRO—Y 135% 13.5%
ZESHLE H—RO—> T2WAY, TCITY, 145% 14.5%
KPEHAERE H—RO—=y<Rrv 5 IT)L> 146% 14.6%




